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3.1 ����������	��'������	�����4)��#�9'
94
%� 
$9���������(	#'��<�������	�	(	#'#��
��ก�'���!����	

2.50 10 20 30 40 45 33.3 3 0.2500

3.2 ����������	��'��� ��<��	����	�����4)��
��	
	�(����ก�����
ก'�!��=�(�4���	�
���(����
�����(	#'��<�������	�	(	#'#����ก�'���!����	

2.50 15 20 25 30 35 58.33 5 0.4167
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15 1 2 3 4 5 3.7429 3.7429 1.8715
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3 65 70 75 80 85 76.62 3 1.0000
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3 65 70 75 80 85 50.08 1 0.3333
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ก	�!����	������	�

3 65 70 75 80 85 75 3 1.0000

6 4.8333
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������ก	��� ��ก:49����	� 
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10 ก	�ก�	���
	#�ก	���ก	��� ��ก:49����	� 1 1 2 3 4 5 5 5 0.8333
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1 1 2 3 4 5 5 5 0.8333
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1 75 80 85 90 95 100 5 0.2500
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1 2 3 4 5 0.0000
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������ก	����)�	�	��	�
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1 1 2 3 4 5 5 5 0.2500
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��	
������ก	��	��	����
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)	�ก	�
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1 1 - - - 5 5 5 0.2500

15.4 �������	
��	
������ก	��	��	�%�ก	�
!&'��#'�	(ก	�!����	!8��!��
	5 9.3.2553

1 1 2 3 4 5 3 5 0.2500
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2 1 2 3 4 5 3 5 0.5000
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 1 2 3 4 5 0.0000
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0.0000

�
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1.50 1 2 3 4 5 87.82 4 0.3000
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�6�

1.50 1 2 3 4 5 54.66 2 0.1500

�
�� 5 ก	�
 ��
���)��9�	ก�� ��� 1.50 1 2 3 4 5 72.8 3 0.2250

�
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�
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���)��9�	ก�� ��� 0.50 1 2 3 4 5 2 3 0.0750

�
�� 6 ก	����ก�����ก	� 0.50 1 2 3 4 5 2 3 0.0750

65 3.7894
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